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1. What is the major cause of air pollution in India?
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A. Industry
B. Transport 259
C. Biomass based cooking =
D. Crop residue burning
E. International Sources
F. Others
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2. What is the best solution to reduce the air pollution in New
Delhi?

39.71%
@7)

A. Increase public transport
B. Increase electric mobility
C. Efficient management of road dust
D. Banning crop residue
burning in adjoin states
E. None of the above
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3. Is the existing air pollution management system in India

effective?
A. Yes _
B. No

C. |1 don’t know
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